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FEF
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% 2% &% (Taylor) £ X
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% %) (1685 — 1731)

EEHFK, pFHAFRFRER
REHREAMZ —, E2EMA:

(EdF R 83 =75 %) (1715)

(&R MEFZEANLY (1719)

o EL1T12 F3k45 2] T AARH X o9 s X




% (Taylor ) 2K,
FHEF(X)E Xg@GEARRK EA n +1 M54
N £ Z AR A A £70x0)
f(3) = f(x0)+ F'(Xo)(X=x0) + (X~ x0)°
1:(n)(xo) |
n!
4 f(k)(xo)
k=0 k!
S XARA f((x) f)ﬁnv\ﬁ%w\’\ A
R.(X)= f (5)( —x)" (EEXE XoZ18])

(n+1)!
AP B ERRA, E=X,+0(Xx-X%) (0<8<1).
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(X =%q)" + Ry (x)

(X — xo)k+ R,(X)




P 7 UNE- WO K=
R AEAK: Ay ~dy = F/(x;)AX

f(X)=~ f\(xo)+ f’(xo)(x—xg) o
p;6<) yt y=f(x)

X 89— % A X

SR P1(Xg) = T(Xp)
p1(Xg) = (%)

0 Xy X
Sl TR GAFE? s
%%ﬁa’%i)ﬁéﬁl‘ﬂ%ﬂ{ UTJ}K“’”‘}F‘?‘ ok AR
hefT iR £2
2 £(X) = pa(X) + Rp(X)
nNRKEZAX HFA
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1. R nREME RN pp(X), EK:

P (Xo) =T (X0), Ph(Xo)=T"(Xg), -+ PH(Xo) =T ™M (xo)
= :)n(x)=a0+a1(x—xo)+a2(x—x0)2+---+an(x—xo)”
0 ph(x)= 3, + 28,(X — Xg) + -+ Nap (X = Xg)"

2la,+---+n(n—1)a,(x — Xg)" "4

nla,
dp = pn(Xo)— f(Xg), a1 = Pn(Xg) = F'(Xp)
= 2 ph(X0) = £"(Xg), = an= 2 PV (o) = £ (M (xo)
f"(Xo)

. Pn(X)=T(Xg)+ F'(Xg)(X=Xp) + (X - Xo)

f (M ()
Nl

(X— Xo)n
BH K58 EZ8F AR EG

4+ .. 4




2. R
AR, (X) = T(X)= po(X) (FRAKR), WA
Rn(X0)=Rh(Xg) == R{M(x) =0

Ra(X) AR E T EeE
(x= %)™ [ f(t)=Ry(t), F(t)=(t—xo)"™"

_ Rn(x) B Rn(XO) _ thl(é:l) (5145'- XO’L:J X_‘("éﬂ)

C(x=%)"™=0  (N+1)(E - %)
_ RL(&) —Ri(xg) _ RA(&) (& 4 X5
(N+1)(& —X)"=0 (N+1n(& - %)™ & ZH)

— RE™(£0) — RV (%) _ R{™D (&) (£ XgH X Z19])
(N+1)---2(&,— %) -0  (n+1)!
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Rn(X) = T(X)= pn(X)

Ra(x) _ RY™Y(&)
(x—x,)"  (n+1)!

- pi" D (x)=0, - RIMD(x)= f (D (x)
f (rH-l) (5)

(& Xg5 xZI)

Ry (X) = (x—x0)™ (£ £ Xo 5 X Z )

(n+1)!
5 xo #9RAREA | FMD () <M Bt

~Rp(X)=0[(x=%)"] (X = X)
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#Z% (Taylor) 23

FHEF(X)E Xg@GEARRK EA n +1 M54
N EZARIRA A e

F(X)= F00)+ 00X = X)+ @ (x = 3,
(n)(xo) |
n!

f(k)(xo)
k=0 k!

XA F(X) BN EmHaX, L+

(n+1)
o) = 1 O )™ (A x5 2 )
HAFARE B ARR, E=X3+0(Xx—-Xy) (0<O<1).
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+ .-+ (X — xo) + R, (X)

(X = Xg)*+ Ry (X)




#% (Taylor ) »~X:

25| R, (x) = o[(X - Xp)"].

EREZRANFHAREINN, ZHAXTEH
F(X)= f(xg)+ F'(X)(X— Xq)+ f"g‘O)(x — Xg)?

f (M (o)
|

F oot (X —Xg)"+0[(x = Xg)"]

n £ (K)fv 3
G xg) ol x0)"]
k=0 .

o[(X — Xo)" 1 #& A n MrZx2h X 891 L % (Peano) &R .

B K F 0 AN AR ART 2




f(X) 8 n NERFBAK: E=X+0(Xx=Xy) (0<0<1)

[0 = £000) + F0)(X = X)) (x = %)’

Xo)" +

£ (D) () "
(n+D!(X_X&

(1) B n=0#/, ZIHAX L4800 0 FIEEE
f(x)=T(x0) + F/(£)(x=X) (&& XoH XxZI)
(2) En=18, ZHAIXLH

F(x)= F000) + (X)X = x0) + () (x= %0’

(&4 Xg 5 X Z1)
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f(X) 8 n HERFBAK: E=X+0(Xx=Xy) (0<0<1)

[0 = £(00) + F0)(X=x0)+ 0 (x = %)’

f ()
(nN+1)!

=0, £=6X (O<«9?}), N7
f(x)= f(0)+ f'(0)x + f (O)x2+---+ f (O)x”

21 n!
L FTO%) o
(n+1)!
_ 3 f90) i, £V o

o K! (n+1)!
A & %574k (Maclaurin) 25,
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% #%,25 4k (1698 — 1746)

REHFR, T 2EFER:
CRFL) (1742)
KA ALLFTEY (1720)

(REALD (1742)
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R LI ABEL
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= TUASEREE Z L AR
#11. f(x)=¢e".

- s F0)=eX, FR0)=1 (k=12 ),
2 n @ x
S S P A N S
2! n! (n+1)!
0<@<1.
* %2 (Maclaurin) 2X,:

F(x)= F(0)+ F'(O)x+ O y2 .y

F(0) n
2! n!




#)2. f(x)=sinx.
SR f(k)(x)= sin(x+k2ﬂ),

0, k=2m,
f<k>(0)=sin"”={ 1
2 (-1)™, k=2m-1,
X3 X5 -1 X2m—1

SSinX=X——+4+——--+ (-1
3k o A Ty

~ (-1)™cos(@ x)
7P Rom(x) = (2m +1)!

(m=12,--)

+'RZm(X),

x°M+l (0<6<1)

Z @
f(x)=£(0) + f'(O)x+ @2, 41 .(O)x”
f(n+1)(9X) n:
+
(n+1)!

x" 0<O<1.
eI = e R A




%13, f(X)=cosX.
R KA AF
2 il om
Y T S m X

4! (2m)!
o

R2m+1(X) =

+ R2m+1(X)

(-1 cos(@x)  omq2
(2m+2) !

- (0<6<1)

" (n)
f(X)=f(O)+f’(O)X+f (O)X2+---+f (O)Xn

(n+1) 2! n!
+f (QX)X”+1,O<9<1.
(n+1)!
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#l4. f(x)=(1+x)%, x>-L1.
o f )= a(@-1)-(@—k+ 1)L+ x)*7,

f0)=a(a-1)(a—k+1), k=12 -
a(a—1) x2 .

LA+ X)) =1+ax+

a(a-1)(@—n+1)
* nl!

R 7 Ry (x) = ale-1)-{a= n)(1+«9x)0“”‘1x”+1,

X"+ R, (X),

n+1)!
( ) 0<f<l.
f"(0)

(n)
f(x)=f(0) + f'(0)x + 3 X2+---+fn!(0)x”

(n+1) .
+f (gx)x”+1,0<9<1.
(n+1)!
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#]5. f(x)=In(1+ x), x>-1.

. BRE

£ (K) k-1 (K- 1)' k=
(X)=(-1) (14 )" 1, 2,

x> X

N
N+ X)=X— "~ +% _.. 4= 4R X),
( ) > T3 (1) - n(X)

n+1

=D x
EF R, (X)= 141 (1405 0<f8<1.

£70) 2, 4 F0) 4

f(x)= f(0) + f(0)x + i~

N f (D9 x)
(n+1)!

+oee

x" 0<0<1.
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1. A AR F o 4 L
F(X)= £(0) + F/O)x+ (Vx e

L %)
(n+1)!

x"™ 0<@<1,

f"(0)

f(x)= 1(0) + f'(0)x+ ) X2 4t

‘ ‘n+1

xZ R, (X)|<

(n+1)I
M b FD () @40, x 893 K A Ly R

e AR AT £ 51




%16, #+ B R IEK e WU WME, 4R £ AT 107°.
e Cime M E L FTIRAXA
ex—1+x+x—2+ +Xn + °
B 2! n! (n+1)!
0<fO<l.

ox=1,4%

1 1 e
e=1+1+—+---+—+ - 0<8<1,
7 Nl (n+1)!

HF0<e? <e<3, w4
3 6
<10 ",
Ra@i< 41y
HitE T4 4 n=9 K _EXRE,

K kaez1+1+21|+---+;=2.718281.

R Y




2. F A 2o KRR

I V3X+4+-/4-3x—-4 FRRLEE
17, K 2 R R AR

i }'ﬂi‘%b/ A )
\/3x+4 2(1+ X)?
_o[1+1. G+436- @x)2+0(x?)]

)

1.9
_2+ X — 4 ‘16 X +o(x)

¢4—3x=2(1—zx)2= ~3x —1.8x%+0(x?),

Xx—0

=lm (-=- =
x—>0( 2




X2
e” +2c08X—3

4

%18. - lim
X—0 X
2 2 1 4 4
=1+X +§x +0(Xx™),

2 4
cosx=1—" 4> +0o(x5),
21 4]

1

4—!)x4 +o(x")

(21|+2-
X = lim— 7 =

X—0 X 12 |

2 Xn

' =1+ X+—+..+—+0(x")
21 n!

v

)

CosX =1— +o(x°M+
2! . 2m)!




3. FI A &)/ NGB R F X
2
4. 3E8] 1+ X >1+§—X€, x> 0.

1
HE. o 1+ X =(1+ X)?

111 .1 =3 /3
a._(5_1)(5—2)(1+6?x) X",

xx21

+ + —
2 8 16
S AN1+EX>1+

(1+0x)2x3, 0<6<1,

2

X
8 y

X
2




2T
1. %) (Taylor ) 25
B (X) B Xo R AR £ 1 Bk
N EZATIRAA ’ AN+ 12,

f(x)= f(Xg)+ F'(Xg)(X—Xg)+ f”g(())(x_ X0)’

(n) -
o] (XO)(X— X)" + R, (X)

n!
n ¢ (k) \
=3 1 0 x-x0)k Ry(3)
k=0 -
(n+1)
Ra(X)= &)y 3 of(x = xp)"]

(n+1)! -
1545 3 B AR I35 (Peano) & R

EFE x5 x,Z ], £=Xy+0(x—Xy) (0<O<1).
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2. % %57 # (Maclaurin) 2~

f(x)= f(0)+ f'(0)x + f;(lo)x2+...

+ f (i (9 X) Xn+1
(n+1)!

n f(k)(o)xk+ f(n+1)(9X) el
o K! (N+1)!

n £ (k)
= z f |(O) Xk +O(Xn).

k=0 K




w £ %974 (Maclaurin) 2%,

X2 X eﬁx n+1

=l X+t t
2!

+ , 0<60<1,
nl (n+1)!
x3+x5 Lt y2m-1
31 o (2m — 1)I
m
(-1) COS(HX)X2m+1’ 0<h<1
(2m +1)!

2 X4

X
cosx=1-—+—+
21 4l
(=1)™** cos(6 x) 2ms2

(2m + 2)!

SINX= X—




3. % F £ %% (Maclaurin) 22,

X2 x3

IN(1+ X)= X -+ (D) XT
(1+ X) 5 g (-1) -
(_1)ﬂ Xn+1

N+1(1+8x)

1 0<0<1,

a(a-1) X2+”.+a(a -1)---(a—n+1) w"
2! n!

a(a-1)---(a—n) a-n-1_n+1
(1) (1+ 8 x) x -, 0<f8<1.

1+ X)* =1+ ax+ +
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